3.4 Inverse function (continued again)



Find the indicated values. .
£6=x+t 860F X -5 hRY x2p
Eiunction that passes the VLT and HLT is callﬂ
a1to 1 function (1:1 function).
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Find the indicated values. . —«li
L= x+4 467 X =5 hxFY | ¥z 0

A function that passes the VLT and HLT is called
a 1 to 1 function (1:1 function). h ()= il

(2) ((28)=5 25-x*

5 =X



Find the indicated values. . —«]L
L= x+4 467 X =5 hxFY | ¥z 0

A function that passes the VLT and HLT is called
a1to 1 function (1:1 function).
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